FAKR/IREF# B BERIRILY—HESHEE (#RA=E%As1 )

Bt Bt &K
BERAIRIILYX—HEES = 24 x ga x D
(@s) = 24 x 181 x 505 / 1000 = 2,189  [kWh]
= 24 x 181 x 505 x 3600 / 1000000 = 7,881  [MJ]
B ST G 3R EETENEEES 0.6 [-]
B STE G2 564 W]
ERNFEER RIM&H-YDRERS - ARZOHMERAN S DFKER 4.6 [W]
FEDHLENKEE 112.6  [m]
ERFEER
= KiMbiYDEAISDFREERXEFEDHLERKEE
= 46 x 113 518 [W]
ENIRGH ERNRERE - BHIIREBR + ENRLEHR
(B = 564 + bH18 = 1,082 [W]
BEIB K IRE (0a) BEIBRERK (0a) = BBXREHR x HIEKEHE
= 1.6 x_ 112.61 = 181 twrcl
BREEZE BRBEZ(Atn) = E / qa
(Atn) = 1082 / 181 = 5.99 [°C]
BEEEAH BEHEERMEROERETER 18 [C]
(D) BEHATERGEROERETER) - Atn = 12.01  [°C]
BEEEAKOD -= 505 [K-B]
BEERAESHES BEVATL = BRRA5—
(Qs) BERATLHME(N) 1.00 [-]
EERESHES
= 24 x ga x D / n
= 24 x 181 x 505 / 1 = 2,189  [kWh]
HAEREEL-YOBRERERHES
- BEERAERHEEE / HAEAKEE
= 2189 / 112.6 = 19.44  [kWh/m]
BEICLEHCO,REE|REMECO, 200657 —4% HEHEA 0.481 [ke/kWh]
[REGL / BEIRATLE 0.481 [ke/kWh]
CO,.®4E=E
= BERAIRLY—HEBE x [REMCO, / BEVATLME
= 2189 x 0.481 / 1 = 1,053 [kel
HEEREEL-YDCO,LRLEE
= CO%&E=E / HIAENKEE
= 1053 / 112.6 = 9.4 [keg/m]
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AKR/RERFH B

REBRRYERES

( FE=EHKX=4 )

BBRFRE
=i R AR BAER | BRERE | BEX |BMARERH
Alm] KIW/miK] |A-K-HIW/KI[ Q[W/miK]
ER HGW16K 180mm 16. 35 0.25 4.16 0.04
X HGW16K 160mm 31. 47 0.226 7.10 0.06
sy EE HGW16K 90mm 143.75 0. 497 71.50 0.63
et il B HGW16K 90mm 10. 47 0.295 3.08 0.03
R 8t ;£PSF3%& 100mm 3. 31 0. 352 1.16 0.01
i 7L -mm + $RHi%PSF3FE 50mm - - 22. 64 0.20
OB - 22.78 - 46. 22 0.41
;s BREH 0.5E (70% EAZMMS) 271.12 - 24.86 0.22
HSIENKEE - 112. 61 - - -
FEEHK 180. 72 1. 605
F O DEIS L
RE| AL BAE o UiEE MR FIELE RERE Y st ik (mm) g miEx
KIW/mK] [ W(ig) H &) Alm] K-ATW/K]
Wi | m EEmEA F7 BrEEERRH-5 L 2.33 850 2,312 1.97 4.58
W2 | m EEmEA PVC ArLow-E L 2.00 1,650 2,000 3. 30 6. 60
W3 | = EEmEA PVC ArLow-E L 2.00 600 1,100 0. 66 1.32
W4 | = EEmEA PVC ArLow-E L 2.00 600 1,100 0. 66 1.32
W5 | = EEmEA PVC ArLow-E L 2.00 600 500 0.30 0.60
W6 | dt EXmEA PVC ArLow-E L 2.00 600 500 0.30 0.60
W7 ] Jt EXmEA PVC ArLow-E L 2.00 600 500 0.30 0.60
W8 | Jt @A PVC ArLow-E L 2.00 600 500 0.30 0. 60
Wo | 7 EX@EA PVC ArLow-E L 2.00 360 900 0.32 0. 65
Wio| @ EEmEA PVC ArLow-E L 2.00 686 686 0.47 0.94
Wit| @ EEmEA PVC ArLow-E L 2.00 1,650 230 0.38 0.76
Wi2| = EEmEA PVC ArLow-E L 2.00 1,650 1,100 1.82 3.63
W13| 1t EXmEA PVC ArLow-E L 2.00 1,650 1,100 1.82 3.63
Wi4| 1t EXmEA PVC ArLow-E L 2.00 600 500 0.30 0.60
Wis| 7 EX@EA PVC ArLow-E L 2.00 360 900 0.32 0. 65
Wi6| @ EEmEA PVC ArLow-E L 2.00 1,650 1,800 2.97 5.94
Wi7| @ EEmEA PVC ArLow-E L 2.00 1,650 1,800 2.97 5.94
W18| = EEmEA PVC ArLow-E L 2.00 1,650 1,100 1.82 3.63
Wi9| & EXmEA PVC ArLow-E L 2.00 1,650 1,100 1.82 3.63
ESL¥1N 22.78 46. 22
EREAGH 22.78 46. 22
E2mBEt 0.00 0.00
RIFEET 0.00 0.00
EiRmEEt 0.00 0.00
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BROXERERE

i s A B
BHod |[FEMHE #HEH
s25| No. Em4 B | 8McEBER | KR BJEin
d A d/A d/A
mm W/m-K mi -K/W mi -K/W
-l -[ERAIRERMEERD Ri - - 0.09 0.09
a 1 |%&L - - - -
b |63[#E-2Z5K—F 9.5 0.22 0.04 0.04
¢ | 5 [HGW16K 180 0.038 4.74 -
d | 36 [KR#f 13& 180 0.12 1.50
e | 1 |HL - - - -
-l -ISHREIRERMEEED Ro - - 0.09 0.09
BERIET YR=Xd/A 4. 96 1.72
BERE Kn=1/XR 0.20 0.58
BWEmEIELL a 0.86 0.14
FERERE=FHRERE K=2 (a- Kn) 0. 255
& BRAN——
d FEK - B
¢ FRiEHFELES
b A FHERS
a AR

A B &
RKHADEERE
25| No. BM4A B | BMnEER | 2MER
d A d/ A
mm W/m-K mK/W
-|  -|ERAIERERMEEER R - - 0.09
a 1 |%&L - - -
b |63[8>Z5/KR—F 9.5 0.22 0.04
c 5 |HGW16K 160 0.038 4. 21
- IS SAIREEEEER Ro - - 0.09
BB RIER SR=Yd/A 4.43
BERE Kn=1/XR 0.23
BEmiALL a 1.00
BERE K=2 (a- Kn) 0.226

LAV

c HEL
b pugE e
a P bt
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HoTE A B C
Ho% | FiEmE | BEREM | <
=== No. BHE Ex | BvzEE | BMER | BER | BMER
d A d/A d/A d/A
mm | W/m-K mik/W mik/W mik/W
- - EnEEEREEER R - - 0.11 0.11 011
a 1 |&L - - - - -
b |63|#EoC>5K—F 12.5 0.22 0.06 0.06 0.06
c | 5 |HGWi6K 90 0.038 2.37 - -
d | 36 |A# 158 90 0.12 - 0.75 -
e | 36 |A# 158 90 0.12 - - 0.75
f | 56 |[&4k 9 0.16 0.06 0.06 0.06
-| | EEIEEREEER Ro - - 0.11 0.11 0.11
BERER SR=2 d/ A 2.70 1.08 1.08
BERE Kn=1/=R 0.37 0.92 0.92
BABEIE LT a 0.77 0.20 0.03
TERERR=—THRERER K=% (a- Kn) 0. 497
=AHA a PR B e F<B
b PR b abec /f
o FolEsEb
T T e
f @ I
(i
=241 = =
| N b fl
& B & B &
RSO EERERE
=== No. BHE Ex [ MzBE | BER
d A d/A
mm W/m-K mK/W
- - EnEEEREEER R - - 0.11
a | 5 |HGW16K 90 0.038 2.37
b | 36 |A# 15& 90 0.12 0.75
c | 56 |[&4k 9 0.16 0.06
-| | EEEEREEER Ro - - 0.11
BERIER SR=2 d/ A 3.39
BERE Kn=1/>R 0.29
BABEIELT a 1.00
TERERR=—THRERER K== (a- Kn) 0.295
) b R
[
-
G a FRRABITE
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HoiEs A B
s B BA#H
22| No B4 B | 3vzEER | BER K
d A d/ A d/ A
mm W/m-K mK/W mK/W
-l -[ERAREREEER R - - 0.15 0.15
a | 52 |&tRro07 12 0.16 0.08 0.08
b | 56 |&#x 15 0.16 0.09 0.09
¢ | 20 |#H;%PSF37&E 100 0.028 3.57 -
d | 36 |[K#t 158 100 0.12 - 0.83
-l - RARERMEEER Ro - - 0.15 0.15
HEFRER YR=Y d/A 4.04 1.30
BERE Kn=1/ %R 0.25 0.77
BEmEEL a 0.80 0.20
EEHERE=FHHRERE K=% (a- Kn) 0.352
E &M thid
lieaz] /] T
ot d A NVBABARANY AP ?!KKKKE! 5§E§?§?§?§?§?§?§K?§KK E!KE!K?@'& ol
[ ||
1 1
A B A B A
HEE (RSB D EEL A= ELHE T AL
25 No. E#f Elmm]] t&[mm] |BMEEFE W/ (m-K)] EEHUE [m - k/w]
a 1 fd: L - - - RWPa 0.00
a | 20 0 HH 3% PSF 37 50 - 0.028 |[Ryps 1.79
b [ 1 TL - —|Rupp 0.00
c 1 TL - - prc 0.00
¢ | 20 0 HH 3% PSF 37 50 450 0.028 [Rype 1.79
d | 36 A 188 90 - 0.120 [Rypq 0.75
e | 50 avsy—+ 150 - 1.600 [Rype 0.09
E R M EE SH] 30 Jmm
NESDORERE
d, d,=28 xR,
(=l KLa=1.3 X 10 °d>-0.005d-6 X 10_"dH+12 X 10" *H+0.( 0.72
AHh— B
: d iﬁ KLb=-1 X 10" °H*+4 x 10°H-9 x 107°-0.027 0. 00
N T e KLc=-2 x 10"°H"+9 x 10"°H-0. 0001L-0. 00075d,~0.{  0.00
bl — hHEE c PIT A — FHish KLc' =—1.8 x 10 °H*+4. 3 x 10°H+1 x 10"'HL-0. 0004  -0. 17
\ B mEKL = KLa+min (KLb, KLc, KLc') 0.54
i hREDBE R
KFa = 5x10°H’-3.8 X 10°°H+0.123 \ 0.12
PRI H— SR
KFc = 3x10°H’-7 x 10"°H+0.00002L 0.00
KFc' = 3x10°H%-2 x 10" °H+0.0001L-0.01 0.03
BVE REKF = Kfa+KFc+KFc' 0.16
TEDRERE
K = 1/ (Ro+R,pa+RypetRi) IW/m?K] 1.1
BAREIHLVUK Kx0.1 [W/mK] 0.12
HEEH ENYBERE
K= 1/(R0+pra+prd+pra’ +Ri) [W/mzK] 0.49
BRAREIHLVUK KxHr  [W/mK] 0.05
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AKR/REF# B BHERGREEGES

FAED B 5TERG
13 BTk BEME| #kk WIERE  |#HEMRS| 24 85| HIE B
RS\ AN AR A5 ADMLE | BsERY | BE | RS 2 B BAE | BAE |AHFIE
Vi Y1[ml | Z[m] | X[m] | Y2[m] [Ai[mi1] L1 L2 1 2 fc no Ki) ni
Wi|®| 0.36 | {Emsi#EEB6 b-AB-7Y 0.85 [2.31 |1.97 1.00 0.46 0.46 0.33
W2 | | 0.36 | EM5I4EEB6 V=287 1.65 | 2.00 |3.30 1.00 0. 46 0. 46 0.55
W3 | 3| 0.44 | {ERR5H4EEB6 b-AB-7Y 0.60 |[1.10 ] 0.66 1.00 0.46 0.46 0.13
WA | || 0.44 | EM5I4EEB6 V=287 0.60 | 1.10 | 0.66 1.00 0. 46 0. 46 0.13
Wo [ 3| 0.44 | {ERR5H4E/EB6 b-AB-7Y 0.60 |0.50 | 0.30 1.00 0.46 0.46 0.06
W6 | db | 0.23 | {EM5I4EEB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
W7 |4t ] 0.23 | {Emk5i#EfEB6 [ 0.60 |0.50 | 0.30 1.00 0.46 0.46 0.03
W8 | de | 0.23 | {EM5I4E/EB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
Wo [ #& | 0.44 | {ERR5H4E/EB6 [ 0.36 [0.90 ]0.32 1.00 0.46 0.46 0.07
Wi0| B8 | 0.36 | {EM5I4E/EB6 V=287 0.69 [0.69 |0.47 1.00 0. 46 0. 46 0.08
Wit @] 0.36 | {Enm5i#E/EB6 [ 1.65 [0.23 ]0.38 1.00 0.46 0.46 0.06
Wi2| | 0.44 | EM5I4E/EB6 V=287 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
Wi13| 4t | 0.23 | {Ema5i#E/EB6 b-AB-7Y 1.65 [1.10 | 1.82 1.00 0.46 0.46 0.19
Wi4] de | 0.23 | {EM514EEB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
Wis| #& | 0.44 | {ER5{4E/EB6 b-AB-7Y 0.36 [0.90 ]0.32 1.00 0.46 0.46 0.07
Wi6| A | 0.36 | {EM5I4E/EB6 V=287 1.65 | 1.80 | 297 1.00 0. 46 0. 46 0.49
Wi7| @ | 0.36 | {Em5i#E/EB6 b-AB-7Y 1.65 [1.80 |2.97 1.00 0.46 0.46 0.49
Wi8| | 0.44 | EM5I4E/EB6 V=287 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
W19f #& | 0.44 | E5{4E/EB6 V-A8-7Y 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
&t 3.88
SRR D B S5TERIF
koA PAAES - BRfL [EE BERE BERAR BT ERTG
Vi Ai Ki 7 i=0. 04Ki vi-ni-Ai
[ 0.36 |9hEEA 44.25 0.50 0.02 0.27
5] 0.36 |PERAERA 2.62 0.29 0.01 0.01
[i] 0.44 |9+EEA 44.25 0.50 0.02 0.33
[ii] 0.44 |BERAERA 2.62 0.29 0.01 0.01
it 0.23 |9hEEA 44.25 0.50 0.02 0.17
it 0.23 |BERAERA 2.62 0.29 0.01 0.01
® 0.44 |5+EEA 44.25 0.50 0.02 0.33
g 0.44 |BERAERA 2.62 0.29 0.01 0.01
L 0.36 [E4R 60. 00 0.25 0.01 0.19
EL 1.00 |X3# 31.47 0.23 0.01 0.24
& 1.57
B ST ISR R
HRAPRERE [m] 112. 61
BRRSEE FAAOBSIE + R0 BSERG 5.44
HETIGHRE BTSSR / ENKEE 0.05
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